BRRTE 5
r 0L EOBK Y L, H5 {a,) 2RO L5 TED S,

ap=r, a2 =r+1, apys=apy1(ap+1) (n=1, 2,3, ---)

Fio, Epr 1oLV, a, Zp TESRVED, ET5, 7272L, 0% p THl-
-&01X0 &5,

(1) BAE n L, bppo 1T bpgq (b +1) Zp TEHIATZRY E—HFT DL %
AN c AR

(2) r=2, p=17T DEEIZ, I0LLTFTOTXTOHRE n 1T LT, b, ZRKD X,

(3) %2 >DMEELRLBRE n, mIIXLT,

boi1 = byps > 0, by = bpso
WO >Toe T 5, ZDOEE, by =b,, DKV NDOT & ZRYE,
(4) asz, as, ag, - - Zp THROENLE DB W ETDH, ZDLE, ag B p T
FO IR & AR,

(1)

a, & p CEl-7-p% ¢q, £ LT,

ap = qnp + bpn, pi1 = que1p +bpr1 EBITHDT,

an+2 = (qn+1P + bnt1) (gnp + by + 1)

= {gn+19np + bnt10n + @n+1(bn + 1) }p + bygr (bn + 1)

Lo Tapis & p THSTZRY, T7206 byao 1%, by (b +1) % p THISTZRDIC
FELV, (REPHRE)

@)

rlykp THOERUNELWILE, o=y EET, (1) b,

bl = a1 :2J:@b1:2, bg = Qa9 =241 :3J:Db2:3, bg 53(24—1) =
9L0bs =9, b,=93+1)=36L0bs =2, b;=2(9+1)=20L0bs =3

UF@@%GC, b6 - 9, b7 - 2, bg — 3, bg = 9, bl() =2
(3)
bn—|—2 = bn+1 (bn + 1) , bm_|_2 = bm+1 (bm + 1) L bn+1 = bm_|_1 o,

0="bnt2 —bmi2 =bpy1 (by +1) = bt = brpa



= bry1bn — bis1bm (o bp1 = bing1)

ZIZT, byy1=bpr1 =2 (>0) EBFIE, 2(by —bp) =0

2131, -, p=1DOVTNNTHLND, p THRIVIIND Z &1,
£oT, by —by, Bp THIVEINLZDTHY, #€>Tb, =0b, GEFHE)

(4)

by 20, 1, -, p—1DOVWFTIANLTHDLINDL, n BRIV EXITIE, &F
0,1, ~«+, p—1D5 LICERFEBETEL0ORD D, ZORE byig = bnio &TH
£, (3) 2B, BN {b,} 1, bay by, bugo ZREVIRTAMMERS D Z EBDND,
—J7, EE LY, by, b3, - IZIX0ORBNZWVDNE, by B OIZRDZ LTy, Lo

Tay i3 p THEOGINZRV, GEAKE)

1AL @
(R RELW] L&, THBAEANRELW] ZE2XBTH500RaY T, LT,
MIESCOEX 2> DIZHEIICE 2 S £,



